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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1| Under the PM-MITRA Scheme, the government has approved to set up how many PM MITRA textiles parks?

A seven
B three
(ot ten
D five

Q.No: 2 Which act has the greatest impact in the Indian Constitution?

A Government of India Act -1909
B Government of India Act- 1919
c Government of India Act- 1935
D Government of India Act- 1947

Q.No: 3 Which of the following tournament organized by ICC is not correctly matched?

A Organized ICC Men's T20 World Cup-2026 - India and Bangladesh
B gani: ICC Men's Cl Trophy-2029 - India

C g ICC Men's Cl Trophy-2025 - Pakistan

D Organized ICC Men's T20 World Cup-2024 - USA and West Indies

Q.No: 4 | A candidate's security in an election is forfeited when he does not receive which of the following part of the total valid votes?

A 1/6 part
[} 1/4 part

c 1/8 part

D 1/10 part

Q.No: 5/ _____isthe largest tribal group in India as per 2011 Census.
A Bhil

B Korku

c Gond

D Bharia

Q.No: 6| Which company has been named the new kit sponsor of the Indian cricket team by BCCI in May 2023?

A Adidas

B Samsung
(o} PUMA

D Nike

Q.No: 7| Which among the following is the current ruling political party of Pakistan?
A Pakistan Muslim League
Tehreek-e-Insaf

Pakistan People’s Party

o o @

Awami National Party

Q.No: 8 In which of the following decade only, India’s Population had shown negative growth?

A 1911-1921
B 1931-1941
[ 1921-1931
D

1901-1911

Q.No: 9 Who among the following has won U.S. Open 2022 women’s single title?

A Sofia Kenin

B Naomi Osaka

c Emma Raducanu
D Iga Swiatek

‘Q.No: 10 In which year was the National Commission for Women Act passed?

A 1990
B 1992
C 1988
D 1994

‘Q.No: 11 Which of the following tennis player is not correctly matched from the respective country?

A Roy Emerson - Japan
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B Novak Djokovic - Serbia <tare Wi - wfdar
(o} Rafael Nadal - Spain Wha ST - WA
D Roger Federer — Switzerland AR bew - Rewds
Q.No: 12| The onslaughts of the brought about the collapse of Gupta Empire. % Sl A T W S O fan)
A Shungas i
B Hunas ad
(e Kushanas FuTT
D Satvahanas WAIAaTeT
Q.No: 13 According to which rule of 1829 AD, burning widows alive was declared a crime? 1829 £, & foru Fram & orgaR Ryars & Riar s sy fva R man w2
A 18th 18%
B 16th 16%
lc 15th 15%
D 17th 17%
Q.No: 14 7Bandhavgarh Tiger Reserve is situated in which of the following districts of Madhya Pradesh? FyaTg TR R Ao wew & fmfafea § 3 a2 @ ki i
A Bhind firs
B Anuppur AR
c Umaria safear
‘ D Alirajpur SrefTeTgR
‘Q.No: 15 Which city was the host of the 2nd meeting of G-20 Disaster Risk Reduction Working Group in May 20237 7% 2023 H f-20 mavﬁ@u:{ﬁmwamfw F ) §3F P Ao B T TR 1?7
A Mumbai ag
B Agra SIRT
c New Delhl ¢ Relt
D Bhopal iure
QNo: 16 Nagaji's fair is qrganTzed 'during November-Pe:{ember in the memory of saint Nagaji of Akbar's time. This fair takes place for SiFaR & T & T WFTW:ﬂ F A B TAR-RER & AR T 1A BT S e S g1 g8 A,
about a month in Porsa village of district. o % i i A aeden u WA & forg e @)
A Shivpuri Rragd
B Harda Tl
C Khandwa wsar
D Morena m
\ Q.No: 17 | What was the child sex ratio (0-6year) as per the census 2011 ? 2011 3 TR $ HFAR g g (0-6 o) T U2
A 206 906
B 912 912
[ 919 919
‘ o] 915 915
‘ Q.No: 18  Which of the following sports is not correctly matched with Federation Heazjt;uan;rs? 0 A 37 W B9 S TEmey & a gk TE 87
A A of ics F -1 Switzerland AT THIRTGRA 3w quafea Be¥wm - gam, fRewras
) Hockey ion - L Switzerland Sieripia gl Here - gam, fRewas
c Sports F - Munich, Germany FEATHS Y Widw e - i, wfdt
D International Basketball Federation - Mies, Switzerland 3 ifa e - P, fRiewRa:
Q.No: 19 The Rajmata Vijayaraje Scindhia Terminal is in e fasaR Riftran e o R
A Bhopal T
B Gwalior iR
(e Jabalpur AR
D Indore ﬁ?
Q.No: 20 | Panpatha Wildlife Sanctuary falls in which of the following d;ri(ts of Madhya Pradesh? i\r—mur R HHIRYY WeA VR & Pwfifda § @ frw R & o @7
A Jabalpur ;W
B Rewa ;'aﬂl‘
c Umaria wfear
‘ D Sidhi it
Q.No: 21 | What is common to whale, seal and shark? =, T 3R = & T gae &2
A Regular Migration frafira yam
B Homeothermy auidei
lc Seasonal Migration et
D Convergent evolution mﬁm
‘ Q.No: 22| The Resistance R, not only depends on the material of the conductor but also on the: TRRIW R 7 Fa0 Sk 3 Il R iR o<an § afer 38 W 0 PRk o=ar §:
A Length of the conductor HeTeR B dag
‘B Height of the conductor FIIRR B HAE
c Dimension of the conductor IR T AT
‘ D Width of the conductor e A e
‘ Q.No: 23| The term 'Nuclear winter’ is associated with PR e T AgR
A After effect of a nuclear explosion g Rewie & a1 & Wi
B Nuclear disarmament Lo deesicand
C Nuclear War WRHY] T
D Nuclear weapon testing TeuTy] FRAR T
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‘Q‘No: 24
A
B

|Q.No: 27

o n o

|Q.No: 28

oOnNnw

Q.No: 29

Q.No: 31

Q.No: 34

o0

Q.No: 35

o 0

The effect of sound on the ear lasts for __ seconds.
1/30
1/10
1/20
1/50

Central Arid Zone Research Institute is located in
Karnataka

Punjab

Rajasthan

Haryana

Which of the following gas is mainly found in biogas?
Methane

Ethane

Indane

Indane and ethane

What is the primary body structure of Porifera?
Porous body with many pores and canals
Notochord

Water vascular system

Segmented body

Neha's grandfather was recommended a surgery for cataract. Which of the following is a symptom of cataract?
Blurred or hazy vision

Loss of taste

Inability to perceive colors

Ringing of ears

Each flower normally has how many floral whorls?
16

4

8

12

FAW AR HUME ___ FHUS 7 e 31
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The NARMADA water dispute happened between which states?
Gujarat - Rajasthan- Madhya Pradesh

Rajasthan - Gujarat - Punjab

Gujarat - Haryana- Madhya Pradesh

Gujarat - Maharashtra - Madhya Pradesh

Which greenhouse gas is primarily emitted from agricultural and livestock act}vities?
Nitrous Oxide (N:0)

Hydrofluorocarbans (HFCs)

Methane (CHs)

Carbon Dioxide (CO2)

Fatigue, weight gain, swelling in the face, elevated cholesterol levels are common symptoms found in women diagnosed with
hypothyroidism. Which hormone deficiency results in the condition known as hypothyroidism?

Growth hormone
Insulin
Thyroxine

Estrogen

At what temperature and pressure conditions does the process of coalification occur?
High temperature and high pressure

High temperature and low pressure

Low temperature and low pressure

Low temperature and high pressure

Birds are characterized by their unique feature of:
Feathers covering the body

External Fertilization

Gills for respiration

Scales covering the body

gas leaked from Union Carbide factory in Bhopal.
Methyl sulfur dioxide
Carbon Mono Sulphur dioxide
Carbon Mono acetate

Methyl isocyanate
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The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following

figures. How would this paper look when unfolded?

Q.No: 36
=
ol |
[=N=]
of [
A [==J =]
of [
of of
= =
B [=R=]
of of
g g
L L
o} =R=]
LI Lo
D

In a class of 46 students, 18 play footballs, 17 play cricket and 6 play football and cricket both. 16 students play hockey and 4
Q.No: 37 | hockey and cricket, but not football. Five students play carom but no other games. Which of the following figures represents

these facts?

- ®
. ©p

@
- %P

Find the missing number from the given options in the following question.

72

Q.No: 38

42 8 48 4. 32

9

A 18

B 16

c 15

D 17

Who is older Amit or Naveen?

Q.No: 39 Statement I: Naveen was born in the year 1990 and is 5 yr younger than Amit's brother.

Statement II: Amit is twice as old as his brother.

A Statement II alone Is sufficient to answer the question

B None of the given options

[ Statement I and II together are needed to answer the question
‘ D Statement I alone is sufficient to answer the question

‘Q‘No: 40 | Which of the following diagram indicates best relation between Boy, Girl and Singer?

. QO
> @
< ©9

Q.No: 41 | Select the odd one out.

A RTV
B suw
C GIK
D MPN

Identify the diagram that best represents the relationship among the given classes.
Q.No: 42
Female, Granddaughter, Wife

@
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Find the missing number in place of question mark (?) in the given question figure.

® ® @
nof koNofRolohe
CERONOERCIOSRS

1 2 3

A 6
B 12
D
Which of the answer figures illustrate the relationship between?
Q.No: 44
Delhi, Sri Lanka, Asia
'
° @
¢
°
will appear when opened?
Q.No: 45 |y o o
2 N[N0 O
O, O
(o)
A
O O,
(©) O
(e}
= oo
o 0
C
(o]
0O OO
° 0%
(©) O
A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it
will appear when opened?
a8 NME
S (%
AW

a?r{wmﬁwﬁa(?)?ﬁwwqﬁmmmﬁm|

@ ) g
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@ © 6 ©®
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@

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it 12 e SR 1 R SR BT HISER 35 au Wi ¥ A1E I¢ R I PR S g ame

N o oy
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Oo OO
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Find the number of triangle in the given figure.

Q.No: 47
A 6
B 8
7
D 9
Identify the figure that completes the pattern.
30
Q.No: 48 ]
<
®
SN0
° %
‘ %
N O%(
What should come in the place of question mark?
Q.No: 49
DF13  HI1S LL17 PO19 ?
A TR23
B RT21
C RT23
D TR21
From the given answer figures, select the one in which question figure is hidden/embedded.
]
Q.No: 50 ﬂzz:é
]
'
1
- ]
: l:l]
C

A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

)
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7

9
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A o & I R @ o

DF13 HI15 LL17  PO19  ?
TR23

RT21

RT23

TR21
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Q.No: 52

o 0@

Q.No: 53

o0 o »

Q.No: 54

Q.No: 58

Q.No: 59

o0 ® >

Q.No: 60

-b/a

In a class of students, Raju occupies Sth pasition from the top and 25th from the bottom in the test. How many students are
there in class?

28
30
25
29

Which is the wrong number in the following number series?
200, 180, 160, 146, 132, 120

132

180

146

160

Select the odd one out.

BCD BDD BED
BCD

BFD BID

BED
BID
BFD

In a certain code "SPAIN' is written as '<©*&~ and 'LEAVE’ Is coded as ‘@%*2% . How can ‘PLEASE’ be coded in that code
language ?

@A$*<%
*&@>$A
©@Y%*<%
*A@>$

The product of the zeroes of the cubic polynomial ax® + bx? + cx + d is:

-d/a
-c/a

c/a

Whatis the difference between the largest and the smallest number amongz,:—;, % rmdz

Solve the following question.
(8*+6*+2x8x6)*

270
140
196

196°

The price of a mobile phone with GST of 15% is Rs. 20,999, what is the market price (in rupees) of this mobile phone without
GST?

17,420
18,260
18,775
18,000

Renu lent Rs. 4500 to Kavita for 2 years and Rs. 7500 to kamal for 4 years at same rate of interest and received altogether Rs.

2340 as interest from both. Find the rate of simple interest?
10%

8%

6%

12%

XYZ is an equilateral triangle inscribing inside a circle. Point P is on a circle such that X and P are on the opposite side of chord
YZ. Then among the options which one Is correct.

XP =YP + PZ
XY + PZ=YP + XZ
XZ + PZ = YP + XY

+-D

+ D
e

‘ﬁmﬁlﬂaﬁmtﬁmﬂ,mw&ﬂmﬁ5mwww%mmazsmwmw3| o A fra faemdf § 2

28
|30
|25

29

Frafefea wem s § -0 wen Ta 87
200, 180, 160, 146, 132, 120

132

180

146

160

fawm T 1 9 )

BCD BDD BED
BCD

BFD BID
BED
BID
BFD

T (Afid B 7 SPAIN' Bl ‘<@*&A’ TU1 'LEAVE' F1 *@%*2%" 51 Wi §1 St ts w11 7 "PLEASE" & o W bis fosan sem?

Or$*<%

*R@>$A

©@%*<%

*A@>$ ‘

ﬁﬂmﬂﬁ%ax3+bx2+cx+d*?ﬂﬁﬂ’ﬂwﬁz

~d/a

-c/a ‘

c/a
-b/a

= 3R % dra 7 791 IR TR BIA GE S draaT AR |

| Prafeaa w1 ga PR
(82 +62+2x8x6)*

|270
| 140
|196

196°

15% oiggdt A U HiaTgd SIF 1 a1Ad 20,999 T §, R ohewd) ardl 5 Hiarge B 1 AR ge (39 8) @ 8

17,420
18,260
18,775
18,000

13713 fa 31 2 ad F Rig 4500 T SR FHM &6 &R R 4 7 F AT 7500 I S Y IR A 6 F FAFA 2340 F90
| PR e s 9 o P

10%
8%
6%
[12% ‘

\é;;wwﬁgﬁw%sanﬂ$mm%|ﬁgpwqﬁm@m%ﬁ@xmpmvzﬁmmﬂﬁm%xﬁzmﬁwww ‘
| A PR

XP =YP +PZ
XY + PZ=YP + XZ
|xz + Pz =YP+ XY |
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|
D XP x XY =YP x PZ iXPXXV=VPXPZ

Q.No: 62 The roots of the quadratic equation x? + 10x + 21 = 0 are: ‘ foTd T2 + 10x+21=0 aﬂ:g[%

A -7,3 1-7, 3

B -3,7 ‘-3, 7

c 7,3 17,3

D -7,-3 -7,-3
‘ Q.No: 63 Zir;?eifrtleg;ewze;:::;:?:;:T;lfnl(zizsits received from two different sources on Rs.1500 for 3 years is Rs.13.50. The 1500 T T 3 T 3 1T 2 S-S T B S RS S 5 7 3 SR 13,50 TR 21 I = 7% € 7 ok 70 4 ‘
A 0.1 % 0.1 %

B 0.3 % 0.3 %

c 0.2% l02%

D 0.4 % 1 0.4 % ‘
‘ Q.No: 64 | The rate of simple interest per annum for which Rs 6000 will amount to Rs 6300 in 3 years is: i‘;lﬁ af WYRY S #1 &) RBrd W 6000 ¥ 3 a8 F 6900 TR § TGN ‘
A 5% 5%

B 4% |4%

c 6% 6%

D 2% |2%

Q.No: 65 At what percent yearly simple interest, will a sum of money double in 5 years? i o YR st 3 5 R W T AR 5 o JF AT @ e )

A 20% 20%

B 10% 10%

C 1.67% 1.67%

D 2.33% 2.33%

A vessel contains mixture of milk and water mixed in the ratio 13 : 5, respectively. 72 liters of the mixture is taken out of the o e A o e R e SR B A PR 13 5 3| 1 FYson 91 72 ey P T & AR 51 dtex WFR A Rt

Q.No: 66 vessel ar'|d. l:eplaced .Wlth 51 liters of water such that the ratio of the milk to water in the vessel becomes 8 : 7, respectively, then ST & 9 et A g4 R W @ S 28 : 7 8 o 3, < oeten B G ) SRR T R 22
find the initial quantity of water in the vessel.

A None of the given option fé g famedt & @ P T
B 60 liters 60 e
C 55 liters 55 dier
D 50 liters 50 ey

I vy o g ¥ omafiy a5 @ o gt @1 o g omuf 3o 8 @ o W

No: 67 Due to fog, a train was slowed down by 30 km/h and the duration of the journey increased by 120 minutes such that the total P T SR, @ 2 31 30 ol / ¥er & fimn w Rar n @ IR amn Y o1 120 fFe 0 a5 o € R 29 0 Ol @l 9w F ¥ R

Q:No: time taken by the train to cover the entire distance was 10 hours. Calculate the total distance covered by the train. ‘m T 351 TG 10 T 41| 2 §R1 7 31 T A g8 919 B2

A 1320 km |1320 it

B 960 km 960 fft

c 1080 km |1080 fimf

D 1200 km 1200 fmfr

Q.No: 68 4p?-4q? is a product of . 4p-aq? O 2

A None of the given options | fém g fermedt # & ¢ 7Y

B 4(p-q)(p+q) 4(p-q)(p+q)

c 2(p+q) (p+a) |2(p+a) (p+a)

D 4(p-a)(p-a) |a(p-a)(p-a)
‘ Q.No: 69 |In a class test Prateek attended 44 question which is 55% of total question. How many questions were asked in the exam? | v T ¥ A et 44 vy U S g v & 55% A1 A wklen 3 o e g o A2 ‘
A 80 80

B 75 |75

c 8s 85

D 70 |70

QNo: 70 The sum of the ages of Virat, Hardik and Mahi is 122 years. Three years ago, the ratio of ages of Virat and Mahi was 8 : 5. The }ﬁrrz T AR W1 B I BT AT 122 W F1 A W U, I SR A B U P U 8: 5 Tl Q) Wl 91 gIiGF F IH IR G W

it ratio of Hardik's age after two years and Mahi’s age one year ago is 5 : 4. Find the age of Hardik three years ago. “ﬁﬁmﬁaﬁwaﬂ SFIU 5: 4 T EH T U TP P IW F1 g1 I
A 38 yr ER
B 41yr |41 W@
35yr 35 W
D 32yr | 32 wra
How many circles are there in the given figure? fo g srepfar A fope qu @7

Q.No: 71

A 14 14

B 16 16

c 12 12

D 10 10

Q.No: 72| From the given answer figures, select the one in which the question figure is hidden/embedded. g M IR Pl # 9, 9 ey 71 g T AR vy ongfa fvw &
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Q.No: 73

Q.No: 74

|Q.No: 75

o0 @

Q.No: 76

o0 ®© >

Q.No: 77

Q.No: 78

Q.No: 79

o 0 o »

Q.No: 80

DB DD K

What is the number of pieces into which a cube can be cut by four cuts in one direction, seven cuts in the second direction and

eight cuts in the third direction?

Complete the following series
30, 90, 360, 1800, 10800, ?
75670

If the day before yesterday was Thursday, when will monday be?
Day after Tomorrow

Tomorrow

Two days after today

Today

In a certain code language, '-' represents '+, 'x' represents '+', '+'
represents -’ and "+' represents 'x'. What is the answer to the following question?
60+72-24+18x35="

a1
36
27
a5

Complete the following series
150, 392, 810, 1452, 2366, ?
3000
3600
2800
3375

Select the related word pair from the given alternatives.

Google Chrome : Web Browser

Mozilla Firefox : Virus
Bing : Search engine
Facebook : Malware

Opera : Search engine

Find the wrong term in the given series:
645120, 46080, 3840, 384, 48, 6

6

3840

384

a8

Arrange the following words as per their order in the English dictionary.
1. Patriot
2. Pastor
3. Patron

4. Pattern

&

T g5l § U5 T 3 U3 R # AR Fe, T R A wa Fe R Al R # 918 3 3 Fren o v 87

Frafra g o @ B
30, 90, 360, 1800, 10800, ?
75670

75600

75770

75440

| ofe e @ TEd aren A AR o, @ TR g
Lisiid

|wa

| o 3 3 o e

E

| Ut WY BIS B U H, T BIS § '+, 'x BIDIS g+, + DI DIS § -
‘ IR+ PTHIS § | FERIT U FTIR )
60+72-24+18x35="7

41

|36

27

45

Praferaa sam o1 @Bt
150, 392, 810, 1452, 2366, ?
3000

3600

2800

3375

g e Rwad § § wdfta e g @1 997 B

TN : TG ¢ 1 ?
e Wi @ ars
R : e
FagF : AW
ST 2 WS

& T s H T O §W B
645120, 46080, 3840, 384, 48, 6
6

3840

384

48

Frafofed wedt @ sfih Teear 7 fog T Fw F erER i
1. Patriot
2. Pastor
3. Patron

4. Pattern
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Q.No: 81

|aNo: 82
A
B
c

Q.No: 83

‘-Q.No: 85
A

B
C
D

Q.No: 86

Q.No: 87
A

B
C
D

Q.No: 88

5. Pastern 5. Pastern

52134 521,34
524,13 52413
5,2,3,1,4 5,2,3,1,4
5,2,4,3,1 5,2,4,3,1
Which of the answer figures is the right water image of the given figure? & IW Pl A A DA W ol wy gl N wE ot vl grfi?

n n
% (I % (I

llIIHIIIIH [N

Sl Ll

vz

(I (I

4 4

(I E (I I
[IIIHIILII] I ]
-

[N

Find out the odd word/letters/number/number from the given alternatives. | R o et & farm wreR/sier/RrE/ R B 909 X
P P
F F
L L
R I R

::tz:«il;g equations are solved on the basis of a certain system, On the same basis, find out the correct answer for the unsolved 75 il 3 el i T @ g R o 31 I SR TR R T R 31 T IR aan?

4%3=901:2%5=133:then7*1=2 4*%3=901;:2*5=133:then7*1="

342 |342
344 344
400 | 400
461 |461

The ratio of present ages of Abhi and Dimple is 7:5 respectively. Nine years hence, the difference between their ages will be 12 s ‘ — ¥ 3 "
years. What was the sum of their ages (in years) eight years ago? s o ¥ ST 1 75 8o afaw 91 % 99 91 o 12 7 M 8 7 ST 1 21 A R

72 years |727ad
56 years 56 af
48 years ag o
64 years 64 ad

I Wl W gd & aufy of o 9o §1 9@ O amafiy aof T o o Wi

If the day before yesterday was Sunday, what day will it be three days after the day after tomorrow? | af it 1 R e o, S e & A R e @A @ R e
Sunday R

Saturday \ wfER

Wednesday i FUaR

Monday i L

I ot R g A mufer aof o g B1 o O smufir ot A ot o wanh
A can finish a work in 20 days, B in 15 days and C in 12 days. B and C start the work but they are force to leave after 5 days. \Amﬁmﬁﬁzoﬁ'ﬂﬂ B F N 15 RAFIRCT 1zm‘rﬂ\{wréw%| 8 R C Ff I F § AFT 37 5 Al F A anf

The remaining work is done by A, then what fraction of the work A does alone? | W S TS 81 28 S A GRT e e 8, A A sfea e BT Sean 87
. 1
5 5
1 1
6 6
s 1
4
1 1
3

A man's speed with the current is 50 km/hr and the speed of the current is 15 km/hr. The man's speed against the current is: e F WY T e 3 whe 50 fd/der § ofR Fve 1 wlts 15 fFelyder § | inm & e onert 3 i &:

40 km/hr 40 fowft/der
30 km/hr 30 fft/der
17 km/hr 17 Rty wer
20 km/hr 20 fedl/der

PA and PB are tangents to a circle with centre O, from a point P outside the circle, and A and B are points on the & & 6T P fwg &,qect o e 1 A 31 B §,0 &t aret et 7 #941 Y@re PA 3R PB & | Ay £APB = 40° &, &t

circle. If ZAPB = 40°, then Z OAB is equal to: ZOAB RFeh W& 87
40° 40°
20° 200
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Q.No: 90

Q.No: 91

Q.No: 92

O 0 © >

Q.No: 93

Q.No: 94

o0 o >

Q.No: 95

o nNn o

Q.No: 96

Q.No: 97

Q.No: 98
A
B
C

50°
25°

Which of the following numbers are multiple of 5?
571
252
785
501

50°
25°

Fraff@a 4 3 31 @ Hen 5 3 e 3
571
252
785
501

I v o g F omafy oo & o 9ot @1 o g amuf 3o A o W

Vishal and Prem can complete a work in 34 days and 51 days respectively. Vishal started the work and after some days Prem
joined him and the work is completed in 26 days. After how many days, did Prem join Vishal?

10
14
15
12

. - . 120 131
Find the addition of the remainders of the two terms- 13 nd—=-
12
13
14
7

What should come in place of question Mark *?” in the following number series?
64, 125, 216, 343, ____

512

424

317

64

The weight of seven packets of wheat flour, nine packets of corn flour and four packets of cereal flour is 11.8 kg. The weight of
six packets of wheat flour, five packets of corn flour and three packets of cereal flour is 8.6 kg. The weight of one packet of
wheat flour, eight packets of corn flour and two packets of cereal flour is 5.8 kg. What is the sum of weight of one packet of
wheat flour, one packet of corn flour and one packet of cereal flour?

3kg
2kg
4kg
1kg

Two car goes same distance at the speed of 50 km/hr and 55 km/hr respectively. If second car takes 1 hour more than the
faster car, then calculate the distance travelled by first car.

450 km
540 km
650 km
550 km

Find the 52th term of the arithmetic progression 8, 17, 26, 35......

Two pipes D and E can fill a cistern in 26 and 78hours respectively while working aleng if all the two pipes are open together the
time taken to fill the cistern?

19111010'3
3

19111010‘:
4

lgllzaurs
2

lsllzaurs
1

If the arcs of equal length in two circles subtend angles of 40° and 50° at their centers then theratio of
theirradiiis—

V5:2
5:4
4:5
2:V3

If selling price of 80 articles is equal to the cost price of 100 articles, then find the gain percentage.
50%
25%
30%
40%

| fotrer IR W R 34 AR R 51 Rl A 0@ O 9% A §1 PR 3 T g e R g el % e o o Tt @ T R T
|1 26 REAT A g gon e Rl & e, d e @ e

|10

14
|15
|12

o,
g,
|

FrefefEa sen dear # wed fag 22 & M W @ smem?
64, 125, 216, 343, ____

512

|a24

‘317

‘64

A YT g P a1e, A Qe 7o 1 el R TR 4T AT T HTeT 1 av 11.8 R §) T Ude A I ofre, U9 e HES 1 e iR
1 A 3l &1 31T F1 au 8.6 5 1 T Ve Mg @1 e, o6 A THP 1 9rer AR QA YT SAN FI 31T BT 79 5.8 5w {1 @
Wﬁﬁﬁﬁmm,@ﬁ%ﬁnﬁmmmwﬁﬂmmm?amﬂuﬁmm?

3 femm

2 fem

‘4&111

|1 R

QA FR Fw: 50 fdi/der ok 55 kmy/hr 2 1R § o 8 8 W 7w @ R

IR G FR A I PR I 1 VeT ST 0 ¢ N PR G TR B 7 G T A0 )
450 famft

540 fmft

650 faft

550 fft

TR Aot 8, 17, 26, 35... T 5241 ug 7 FITI

i:ﬁmmm?n:mewéaﬁaﬁwmqﬁmmgum: 26 91R 78 9 H 1R THA § Uik Wi G TFY 0 Wy GaA § A ¢ @ A A R
1976
1976
19262

1826
4

HIRCTddl s JATA (’I*uﬂé AT AT HO ol TX 40° 3R 50° & FIOT ATy b, dl 3 ddl®

ST 2T 3T R gYem?
‘\/3:2

5:4

4:5

[2:45

7 80 awqal F1 Ha T, 100 TR & A g & TR §, A @ WL @ Sl
50%
25%
30%
40%
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What should come in place of question mark *?' in the following number series? | Prfafad w8 A g (2) & _E W 9w s

Q.No: 99
11,17, 39, 85,7 11,17, 39, 85, ?

A 153 |153

B 163 163

C 113 113

D 72 72

© MPESB. All rights reserved

\ Q.No: 100 | Which of the following condition is true related to divisibility of 4. Fraffea 3 & o @ Ruf 4 3 s & wafda 1

A Last 2-digit of given number should be divisible by 4 for a number to be a multiple of 4. & W 1 Sfem 2-9 4 F Ry g TRT Wi #E wen 4 w1 e e

B ‘Fora number to be divisible by 4 its unit place digit should be D or 4 or 8 it wem & 4 | Rrvrse @R ¥ R swd 5918 W ®7 oiw 0 11 4 71 8 g 9IlRT
c |For a number to be divisible by 4,its unit place digit should be 0,2,4,6 or 8 it T ¥ 4 A R €17 R, I9% 391 RIM 31 30T 0,2,4,6 U1 8 T TRY
D |Last of number should be divisible by 4 for a number to be divisible by 4. fareft wm & 4 R € ¥ g oif wiem 4 R/ Rurea @ it
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